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[H1] SR SHotH
kgf/cm Pa=1N/m atm bar mmHg
1 kgf/cn 1 98,066.5* 0.96784 735.557
1Mpa=10°Pa 10.1972 106 9.86923 10%* 7,500.62
Tatm 1.03323 101,325.2 1 1.01325 760.000
1bar 1.01972 105* 0.98692 1 750.06
103mmHg 1.35951* 133,322.4 1.31579 1.33322 103
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kgf.m kcal J
1kgf.m 1 0.0023423 9.80665*
Tkcal 426.935 1 4,186.8*%
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* 2= Zo0l 2let Hetet gt
3. 2% 2&X

259 HAZ= SIHRHME K(Kelvin)E AFESHCH £8F CTEN2E)E
OIFE D UChKe EUH2ZO0ICH

0C =273.15K

SCXE LIEHE M = CE A3sttt



O
¥
10
o
10

O
Ju
1o
a
4o

Ir

(RtE) £= KW(ZEZAE)E MESLLIW=1)/s, 5 1=

= W e
Setoll 12l €= & M 11 =0l TWOICH 1kW = 1kJ/sO[ T
kw2l ==0/2t) o= 2d2 1,000N = 102kgf 2H 2 =ME 1= SCHl
mts sHEE = Ase s50IU
[H3]2 S92 &&tH0IC

=22, o8, il
kgf.m/s kw PS kcal/h
1kgf.m/s 1 0.009807 0.01333 8.4322
TkW 101.972 1 1.35963 859.848
1PS 75% 0.735499 1 632.415
Tkcal/h 0.118593 0.001163* 0.00158 1
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